
Summer Week 3 Maths Lesson 1 
Can I solve 1 digit x 2 digit multiplications​? 

Red 
1) 15 x 3 = 45   
2) 21 x 4 = 84   
3) 32 x 2 = 64   
4) 54 x 5 = 270      
5) 40 x 3 = 120 
6) 18 x 4 = 72 
7) 44 x 8 = 352 
8) 56 x 7 = 392 

 
 

Yellow 
1) 18 x 4 = 72   
2) 44 x 8 = 352   
3) 56 x 7 = 392 
4) 61 x 6 = 366 
5) 59 x 4 = 236 
6) 91 x 7 = 637 
7) 38 x 7 = 266 
8) 49 x 8 = 392 

 
 
Green 
 

1) 91 x 7 = 637  
2) 38 x 7 = 266 
3) 49 x 8 = 392  
4) 97 x 6 = 582 
5) 8 x 57 = 456 
6) 7 x 29 = 203 
7) 6 x 97 = 582 
8) 7 x 38 = 266 


